ASSIGNING OXIDATION NUMBERS - WORKSHEET 1

Part A:

In the following questions, give the oxidation number of the indicated atoms/ion.

1. Nin N2Os 16. Cin CH4
2.Sin H2SO4 17. Mn in MnO;
3.C 18. S'in SOz*
4.CinCO 19. Mg?*
5. Na in NaCl 20. CI
6. Hin H.0 21. O
7. Bain BaCl; 22. Py
8. Nin NOz 23. Na in NazS
9. Sin Al:Ss3 24. S in H2S
10. Sin HSO4 25. Ca**
11. Clin Fe(ClO2)s 26. Cin CN-
12. Fe in Fe(ClO2)s 27.Hin OH
13. N in NOz 28. Mn in KMnOg4
14. Cu? 29. 1in Mg(103)2
15. Zn?* 30. Cin C,04*
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Part B:

Identify the species being oxidised and reduced in each of the following reactions and write their
half reactions:

1. 2Crt+Sn* > 2Cr¥* + Sn*

Oxidised: Reduced:

2. 3Hg? + 2 Fe (s) > 3 Hg, + 2 Fe**

Oxidised: Reduced:

3. 2As(s)+3Cl(g) > 2 AsCls,

Oxidised: Reduced:

4. Zn+ Cu?* > Zn** + Cu

Oxidized: Reduced:

5. C+ H:S04— CO; + SOz + H20

Oxidised: Reduced:

6. HNOs + Hl - NO + |2 + H20

Oxidised: Reduced:

7. KMnQOg4 + HCI - MnCl, + Cl> + H,O + KCI

Oxidised: Reduced:

8. Sb + HNO3z — Sh,03 + NO + H.0

Oxidised: Reduced:
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Part C:
Which one of the following reactions is NOT a redox reaction?
(b) (NH4)2CFZO7(5) —> Nz(g) + 4H20(g) +Cr203(s)

(c) 2CrOg,, +2H(, —>Cr0z,

(aa) 7 +H20)
(d) Cr203(s) + 3C(S) —> 2Cr(s) + 3C0(g)

As
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ANSWERS
Part A:

+3
2. +6
3. 0

4. +2
5 +1
6. +1
7. +2
8. +3
9. -2
10. +6
11. +3
12. +3
13. +5
14. +2
15. +2
16. -4
17. +4
18. +4
19. +2
20. -1
21. O

22. 0

23. +1
24, -2
25. +2
26. -4
27. +1
28. +7
29. 45
30. +3

Part B:

Oxidised = Cr* Reduced = Sn**
Oxidised = Fe Reduced = Hg?*
Oxidised = As Reduced = Cl,
Oxidised = Zn Reduced = Cu®
Oxidised = C Reduced = H,SO,
Oxidised = HI Reduced = HNO,
Oxidised = HCI Reduced = KMnQO,
Oxidised = Sb Reduced = HNO;
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Part C:

(c) is not a redox reaction.
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